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hours

in the margin indicate full marks

for the questions.

Answer arLY fve questions'

1. (a) F-ind ttre Mean, Median and Mode from the

follorving ' 2+4+4:10

Class Interval : 0-10 10-20 20-30 30-40 40-50

5 6 8 30 10

(b)

(c) Find the
following:

Standard deviation from the
5

[Turn over

X: 1 2 3 4 5

r 1 I 8 2 4



2. (a) Find the
following:

(b) Calculate Covariance and Correlation co-

effrcient for the data which consists of the

Pairs: (3, 6), (0, 7), (4, 6) and (5, 1)'

5x2:1.0

4x2:8

(ii) If

Find lim f(x)
x-+l

(b) Test the continuity of the following function

at the Point x: I 4

[l ir xez
f(x) = 

{_r, ,r xGz ,

(c) Examine whether the following function is

bijective or not. 5

f :R+ R defrned bY f(x)=l
1+x
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4.

(d) Find the equation of the cirole whose radius
is 4 and which is concentrie with the circle
x2+5P+2x-6y:9. 3

(a) Evaluate any five: 4x5:20

(i) ! +(t*-l4'a* (ii) [ t:tn**3tot* 
o*

' Zsrnx* cosx

(iii)J cosax dx ri,,) I fr;0,.
(") I x'logxdx ("i) I x2sin2xdx

Examine the differentiability of the function
f at x:1.

(i) y : xs2*
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Evaluate (anY

(i)

ez
(ii) J, xloex dx.

6. (a) In what ratio does the origin divide the line

segment joining the points (-2, 0) and (4' 0)1

(b) Find the Cartesian coordinates of the point

whose Polar coordinates are 5

(--*\ ( 2"\
(i) lziz,r) (ii) [L;,]

(c) If the distance between the points (t' 0) *9
(0,4) be 5 units, find the value of, r' 5

(d) If the points (1, 0), (0, 1) and (x' y) be

coltrinear, Prove that x * Y: 1' 5
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7. (a) Find the equation of the straight line which

cuts the Y-axis at the point (0' -2) making

an angle of 30" with ffi. 5

(b) Reduce the equation 2x+3y -5:0 to

(i) Gradient form (ii) Intercept form. 5

(c) Find the equation of the straight line passing

through the point (1,2) and parallel to the

straight line joining the points (3,-4) and

(-5, 6). s

(d) The equations of two diameters of a circle

are x+y-6:0 and x+2y-4:0. If its

radius be l0 units, find the equation of the

circle.
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